LIAL &= 71S01 U

=5 4Y/HIE o[0ix|

| fl'rr"

S3|4 Foi 2@x|

RAL7021 RAL 2004 RAL 1021

RAL 3020

NE =y Eajm ge

S

RAL 6032

gt 2|4

\Q

RAL 5017

RAL 7035

© HEINRICH KIPP WERK GmbH & Co. KG

[

My

RIE 4: _

QlElA EHKE HEHOR 0I5 &3 It Hats X
SIa AFSEILIC &3 HHE 180° S2I7 &3 Eo| ey
32 9IxlE WHE 4 2 TUc 2P MZ &2 B3
of MR Elof T3 To| 2 2xI2 EO

THEL:
2 dl 1.0503.
Al LA goll 2 B E B

H =
3 o2 Gt $X|PA
LAt & 715 Z2lot0|= hEh MY

2 A} OFRElE LIA aale 2 &3
g M2, Aok A AY ME oFelE Ha
AtQiRo 2 ORE|E ¢S AL,

CteFst Aizto| ZF 2 Hf ZH:

-Zle 3|M RAL 7021.
-ZFEAM RAL 2004.
-EH2 A RAL 1021.
-A3 S Wz A RAL 3020.
AI:LLE* = A4 RAL 6032.
-A% S mEtA RAL 5017.
-4t 3| A RAL 7035.

E:

rH

sk Elo| Hel 9xI2 ot
BolAS 2R &3 b HE MF £ e,
3 gELic

10
N
>
o
i
Ir
|
L]
HC
P

°-'.'A1IA1EI:
Bjo|& 2 & K0638.
EZX|IMHE 24 K1290.

EMME:

EFQl AP: B2
EtQl CP: &2

www.kipp.com - info@kipp.com 1/5



°
X — (e J 3 ClIA =
LIALZH2 7150] Qs Q1A SR
=N
L1 L1
1———
!
K- | @
1 1
i SW1 Swi
- | |
L | u,
= = i
N | 075
|21 | D1
T AN I T AN I
8] 5\_/=== B 3 g\/=== B
\ & | &
ES 29
LEAHZHZ 71550] i QlEiA ZRIK]
F2EWHS ST AR Ef2] D D1 D2 L L1 L3 B B1 H SW1 Fx30° A& Er
Eb =
F12 N F22. N
K2114.940410 - AP 4 M10 10385 25 15 9 3 6 10 1 8 14
K2114.940510 - AP 5 M10 10385 25 15 9 3 6 10 1,3 8 14
K2114.940610 - AP 6 M10 10385 25 15 9 3 6 10 1,8 8 14
K2114.9404101 - AP 4 M10x1 10385 25 15 9 3 6 10 1 8 14
K2114.9405101 - AP 5 M10x1 10385 25 15 9 3 6 10 1,3 8 14
K2114.9406101 - AP 6 M10x1 10385 25 15 9 3 6 10 1,8 8 14
K2114.940512 - AP 5 M12 12 474 30 19 10,8 36 8 12 1,3 5 15
K2114.940612 - AP 6 M12 12 474 30 19 10,8 36 8 12 1,8 5 15
K2114.940812 - AP 8 M12 12 474 30 19 10,8 3,6 8 12 2,3 5 15
K2114.9405121 - AP 5 M12x15 12 47,4 30 19 10,8 36 8 12 1,3 5 15
K2114.9406121 - AP 6 M12x15 12 47,4 30 19 10,8 3,6 8 12 1,8 5 15
K2114.9408121 - AP 8 M12x15 12 47,4 30 19 10,8 36 8 12 2.3 5 15
K2114.940616 - AP 6 M16 16 61,2 40 26 14,4 48 10 16 1,8 15 35
K2114.940816 - AP 8 M16 16 61,2 40 26 14,4 48 10 16 2,3 15 35
K2114.941016 - AP 10 M16 16 612 40 26 14,4 48 10 16 2.8 15 35
K2114.9406161 - AP 6 M16x15 16 61,2 40 26 14,4 4,8 10 16 1,8 15 35
K2114.9408161 - AP 8 M16x15 16 61,2 40 26 14,4 48 10 16 2,3 15 35
K2114.9410161 - AP 10 M16x15 16 612 40 26 14,4 48 10 16 2.8 15 35
K2114.940820 - AP 8 M20 20 71 50 30 18 6 12 20 2.3 20 60
K2114.941020 - AP 10 M20 20 71 50 30 18 6 12 20 2,8 20 60
K2114.941220 - AP 12 M20 20 71 50 30 18 6 12 20 3 20 60
K2114.9408201 - AP 8 M20x15 20 71 50 30 18 6 12 20 2.3 20 60
K2114.9410201 - AP 10 M20x15 20 71 50 30 18 6 12 20 2,8 20 60
K2114.9412201 - AP 12 M20x15 20 71 50 30 18 6 12 20 3 20 60
K2114.960410 75|44 RAL 7021 CP 4 M10 10 395 26,3 15 10,9 49 6 10 1 8 14
K2114.960510 Z43|M RAL 7021 CP 5 M10 10 39,5 26,3 15 10,9 49 6 10 1,3 8 14
K2114.960610 73| A4 RAL 7021 CP 6 M10 10 395 26,3 15 10,9 49 6 10 1,8 8 14
K2114.9604101 Z13|A4 RAL 7021 CP 4 M10x1 10 39,5 26,3 15 10,9 49 6 10 1 8 14
K2114.9605101 Z43|M RAL 7021 CP 5 M10x1 10 39,5 26,3 15 10,9 49 6 10 1,3 8 14
K2114.9606101 75| A4 RAL 7021 CP 6 M10x1 10 39,5 26,3 15 10,9 49 6 10 1,8 8 14
K2114.960512 73| A4 RAL 7021 CP 5 M12 12 484 31,1 19 129 57 8 12 1,3 5 15
K2114.960612 Z43|M RAL 7021 CP 6 M12 12 484 31,1 19 12,9 57 8 12 1,8 5 15
K2114.960812 73| A4 RAL 7021 CP 8 M12 12 484 31,1 19 129 57 8 12 2.3 5 15

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/5



()
| — | — =]
LIAL &= 71S0] U= elsA E8iK
Z= 29

FEHS THE MA EFQ] D D1 D2 L L1 L3 B B1 H SW1 Fx30° A& EbA
Bty B2

F12E N F29. N
K2114.9605121 3| RAL 7021 CP 5 M12x1,5 12 484 31,1 19 129 57 8 12 1,3 5 15
K2114.9606121 Z43|A RAL 7021 CP 6 M12x1,5 12 484 31,1 19 129 57 8 12 1,8 5 15
K2114.9608121 A 3|A RAL 7021 CP 8 M12x1,5 12 484 31,1 19 129 57 8 12 2,3 5 15
K2114.960616 3| RAL 7021 CP 6 M16 16 62,3 41,5 26 16,6 7 10 16 1,8 15 35
K2114.960816 Z43|M RAL 7021 CP 8 M16 16 62,3 41,5 26 16,6 7 10 16 2,3 15 35
K2114.961016 43| RAL 7021 CP 10 M16 16 62,3 41526 166 7 10 16 2,8 15 35
K2114.9606161 3| RAL 7021 CP 6 M16x1,5 16 62,3 41,526 166 7 10 16 1,8 15 35
K2114.9608161 Z3|M RAL 7021 CP 8 M16x1,5 16 62,3 415 26 16,6 7 10 16 2,3 15 35
K2114.9610161 A S|A RAL 7021 CP 10 M16x1,5 16 62,3 41526 166 7 10 16 2,8 15 35
K2114.960820 3| RAL 7021 CP 8 M20 20 72,3 51,3 30 20,5 8,5 12 20 2,3 20 60
K2114.961020 Z3|M RAL 7021 CP 10 M20 20 72,3 51,3 30 20,5 8,512 20 2,8 20 60
K2114.961220 A S|A RAL 7021 CP 12 M20 20 72,3 51,3 30 20,5 8,5 12 20 3 20 60
K2114.9608201 3| RAL 7021 CP 8 M20x1,5 20 72,3 51,3 30 20,5 8,5 12 20 2,3 20 60
K2114.9610201 43| RAL 7021 CP 10 M20x1,5 20 72,3 51,3 30 20,5 8,5 12 20 2,8 20 60
K2114.9612201 A S|AH RAL 7021 CP 12 M20x1,5 20 72,3 51,3 30 20,5 8,5 12 20 3 20 60
K2114.9604102 F0{ 2BIX| RAL 2004 CP 4 M10 10 39,5 26,3 15 109 49 6 10 1 8 14
K2114.9605102 F0{ 2BIX| RAL 2004 CP 5 M10 10 39,5 26,3 15 10,9 49 6 10 1,3 8 14
K2114.9606102 F01{ 23| RAL 2004 CP 6 M10 10 39,5 26,3 15 10,9 49 6 10 1,8 8 14
K2114.96041012 F0{ 2BIX| RAL 2004 CP 4 M10x1 10 39,5 26,3 15 10,9 49 6 10 1 8 14
K2114.96051012 F0{ 28X| RAL 2004 CP 5 M10x1 10 39,5 26,3 15 10,9 49 6 10 1,3 8 14
K2114.96061012 F0{ 2IX| RAL 2004 CP 6 M10x1 10 39,5 26,3 15 109 49 6 10 1,8 8 14
K2114.9606122 F0{ EIX| RAL 2004 CP 6 M12 12 48,4 31,1 19 129 57 8 12 1,8 5 15
K2114.9608122 F0{ 28IX| RAL 2004 CP 8 M12 12 48,4 31,1 19 129 57 8 12 2,3 5 15
K2114.9605122 F01{ 2IX| RAL 2004 CP 5 M12 12 48,4 31,1 19 129 57 8 12 1,3 5 15
K2114.96051212 F0{ 2EIX| RAL 2004 CP 5 M12x1,5 12 484 31,1 19 129 57 8 12 1,3 5 15
K2114.96061212 F01{ 28| RAL 2004 CP 6 M12x1,5 12 484 31,1 19 129 57 8 12 1,8 5 15
K2114.96081212 F01 2| RAL 2004 CP 8 M12x1,5 12 484 31,1 19 129 57 8 12 2,3 5 15
K2114.9606162 F0{ EIX| RAL 2004 CP 6 M16 16 62,3 41,5 26 166 7 10 16 1,8 15 35
K2114.9608162 F0{ 28X| RAL 2004 CP 8 M16 16 62,3 41,5 26 16,6 7 10 16 2,3 15 35
K2114.9610162 F01{ 2&IX| RAL 2004 CP 10 M16 16 62,3 41,526 166 7 10 16 2,8 15 35
K2114.96061612 F0{ EIX| RAL 2004 CP 6 M16x1,5 16 62,3 41,5 26 16,6 7 10 16 1,8 15 35
K2114.96101612 F01 28X| RAL 2004 CP 10 M16x1,5 16 62,3 41526 166 7 10 16 2,8 15 35
K2114.96081612 F0{ 2&IX| RAL 2004 CP 8 M16x1,5 16 62,3 41,526 166 7 10 16 2,3 15 35
K2114.9608202 Fo{ EIX| RAL 2004 CP 8 M20 20 72,3 51,3 30 20,5 8,512 20 2,3 20 60
K2114.9610202 F01 28X| RAL 2004 CP 10 M20 20 72,3 51,3 30 20,5 8,5 12 20 2,8 20 60
K2114.9612202 F01 2| RAL 2004 CP 12 M20 20 72,3 51,3 30 20,5 8,5 12 20 3 20 60
K2114.96082012 Fo0{ EIX| RAL 2004 CP 8 M20x1,5 20 72,3 51,3 30 20,5 8,5 12 20 2,3 20 60
K2114.96102012 F01 28X| RAL 2004 CP 10 M20x1,5 20 72,3 51,3 30 20,5 8,5 12 20 2,8 20 60
K2114.96122012 F01 2| RAL 2004 CP 12 M20x1,5 20 72,3 51,3 30 20,5 8,5 12 20 3 20 60
K2114.96041016 gre =2 RAL 1021 CP 4 M10 10 39,5 26,3 15 10,9 49 6 10 1 8 14
K2114.96051016 g2 =3 RAL 1021 CP 5 M10 10 39,5 26,3 15 10,9 49 6 10 1,3 8 14
K2114.96061016 gt2 =2 RAL 1021 CP 6 M10 10 39,5 26,3 15 10,9 49 6 10 1,8 8 14
K2114.960410116 gre =2 RAL 1021 CP 4 M10x1 10 39,5 26,3 15 10,9 49 6 10 1 8 14
K2114.960510116 g2 =3 RAL 1021 CP 5 M10x1 10 39,5 26,3 15 109 49 6 10 1,3 8 14
K2114.960610116 gt2 =2 RAL 1021 CP 6 M10x1 10 39,5 26,3 15 10,9 49 6 10 1,8 8 14
K2114.96051216 gr2 =3 RAL 1021 CP 5 M12 12 48,4 31,1 19 129 57 8 12 1,3 5 15
K2114.96061216 g2 =3 RAL 1021 CP 6 M12 12 48,4 31,1 19 129 57 8 12 1,8 5 15
K2114.96081216 gt2 =2 RAL 1021 CP 8 M12 12 48,4 31,1 19 129 57 8 12 2,3 5 15
K2114.960512116 gr2 =3 RAL 1021 CP 5 M12x1,5 12 484 31,1 19 129 57 8 12 1,3 5 15
K2114.960612116 g2 =& RAL 1021 CP 6 M12x1,5 12 484 31,1 19 129 57 8 12 1,8 5 15
K2114.960812116 g2 =3 RAL 1021 CP 8 M12x1,5 12 484 31,1 19 129 57 8 12 2,3 5 15
K2114.96061616 gh2 2 RAL 1021 CP 6 M16 16 62,3 41,5 26 16,6 7 10 16 1,8 15 35
K2114.96081616 gr2 =& RAL 1021 CP 8 M16 16 62,3 41,5 26 16,6 7 10 16 2,3 15 35
K2114.96101616 gt2 =2 RAL 1021 CP 10 M16 16 62,3 41,526 1666 7 10 16 2,8 15 35
K2114.960616116 gre =2 RAL 1021 CP 6 M16x1,5 16 62,3 41,5 26 16,6 7 10 16 1,8 15 35
K2114.960816116 g2 =2 RAL 1021 CP 8 M16x1,5 16 62,3 41526 166 7 10 16 2,3 15 35
K2114.961016116 gt2 2 RAL 1021 CP 10 M16x1,5 16 62,3 41,526 166 7 10 16 2,8 15 35
K2114.96082016 gr2 =3 RAL 1021 CP 8 M20 20 72,3 51,3 30 20,5 8,512 20 2,3 20 60
K2114.96102016 gt2 =3 RAL 1021 CP 10 M20 20 72,3 51,3 30 20,5 8,5 12 20 2,8 20 60
K2114.96122016 g2 3 RAL 1021 CP 12 M20 20 72,3 51,3 30 20,5 8,512 20 3 20 60
K2114.960820116 gr2 =3 RAL 1021 CP 8 M20x1,5 20 72,3 51,3 30 20,5 8,512 20 2,3 20 60

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/5



)
| - | - =]
LIAL &= 71S0] U= eldA S8K
Z= 29

FEHS THE MA EfQ] D D1 D2 L L1 L3 B B1 H SW1 Fx30° A& EbA
Bty B2

F12E N F29. N
K2114.961020116 gh2 =2 RAL 1021 CP 10 M20x1,5 20 72,3 51,3 30 20,5 8,5 12 20 2,8 20 60
K2114.961220116 g2 =3 RAL 1021 CP 12 M20x1,5 20 72,3 51,3 30 20,5 8,5 12 20 20 60
K2114.96041084 45 S Wz RAL 3020 CP 4 M10 10 39,5 26,3 15 10,9 49 6 10 1 8 14
K2114.96051084 4SS Wz RAL 3020 CP 5 M10 10 39,5 26,3 15 10,9 49 6 10 1,3 8 14
K2114.96061084 A5 5 Wz RAL 3020 CP 6 M10 10 39,5 26,3 15 10,9 49 6 10 1,8 8 14
K2114.960410184 45 S Wz RAL 3020 CP 4 M10x1 10 39,5 26,3 15 10,9 49 6 10 1 8 14
K2114.960510184 4SS Wz RAL 3020 CP 5 M10x1 10 39,5 26,3 15 10,9 49 6 10 1,3 8 14
K2114.960610184 A5 5 Wz RAL 3020 CP 6 M10x1 10 39,5 26,3 15 10,9 49 6 10 1,8 8 14
K2114.96051284 45 S Wz RAL 3020 CP 5 M12 12 484 31,1 19 129 57 8 12 1,3 5 15
K2114.96061284 4= S Wz RAL 3020 CP 6 M12 12 484 31,1 19 129 57 8 12 1,8 5 15
K2114.96081284 A= S Wz RAL 3020 CP 8 M12 12 484 31,1 19 129 57 8 12 2,3 5 15
K2114.960512184 45 S Wz RAL 3020 CP 5 M12x1,5 12 48,4 31,1 19 129 57 8 12 1,3 5 15
K2114.960612184 A5 S Wz RAL 3020 CP 6 M12x1,5 12 48,4 31,1 19 129 57 8 12 1,8 5 15
K2114.960812184 4= S Wz RAL 3020 CP 8 M12x1,5 12 484 31,1 19 129 57 8 12 2,3 5 15
K2114.96061684 45 S Wz RAL 3020 CP 6 M16 16 62,3 41,5 26 16,6 7 10 16 1,8 15 35
K2114.96081684 A3 5 ¥z RAL 3020 CP 8 M16 16 62,3 41,5 26 16,6 7 10 16 2,3 15 35
K2114.96101684 45 S Wz RAL 3020 CP 10 M16 16 62,3 41,526 166 7 10 16 2,8 15 35
K2114.960616184 45 S Wz RAL 3020 CP 6 M16x1,5 16 62,3 41,526 166 7 10 16 1,8 15 35
K2114.960816184 A5 ¥z RAL 3020 CP 8 M16x1,5 16 62,3 41,5 26 16,6 7 10 16 2,3 15 35
K2114.961016184 AE S Wz RAL 3020 CP 10 M16x1,5 16 62,3 41,5 26 16,6 7 10 16 2,8 15 35
K2114.96082084 45 S Wz RAL 3020 CP 8 M20 20 72,3 51,3 30 20,5 8,512 20 23 20 60
K2114.96102084 A5 ¥z RAL 3020 CP 10 M20 20 72,3 51,3 30 20,5 8,512 20 2,8 20 60
K2114.96122084 A% 5 Wz RAL 3020 CP 12 M20 20 72,3 51,3 30 20,5 8,512 20 3 20 60
K2114.960820184 4E S Wz RAL 3020 CP 8 M20x1,5 20 72,3 51,3 30 20,5 8,5 12 20 23 20 60
K2114.961020184 A5 Wz RAL 3020 CP 10 M20x1,5 20 72,3 51,3 30 20,5 8,512 20 2,8 20 60
K2114.961220184 45 S Wz RAL 3020 CP 12 M20x1,5 20 72,3 51,3 30 20,5 8,5 12 20 3 20 60
K2114.96041086 A4 =M RAL 6032 CP 4 M10 10 39,5 26,3 15 10,9 49 6 10 1 8 14
K2114.96051086 Al =M RAL 6032 CP 5 M10 10 39,5 26,3 15 10,9 49 6 10 1,3 8 14
K2114.96061086 Al =M RAL 6032 CP 6 M10 10 39,5 26,3 15 10,9 49 6 10 1,8 8 14
K2114.960410186 A4 =M RAL 6032 CP 4 M10x1 10 39,5 26,3 15 10,9 49 6 10 1 8 14
K2114.960510186 Al =M RAL 6032 CP 5 M10x1 10 39,5 26,3 15 10,9 49 6 10 1,3 8 14
K2114.960610186 Alad =M RAL 6032 CP 6 M10x1 10 39,5 26,3 15 10,9 49 6 10 1,8 8 14
K2114.96051286 A4 =M RAL 6032 CP 5 M12 12 484 31,1 19 129 57 8 12 1,3 5 15
K2114.96061286 Alad =M RAL 6032 CP 6 M12 12 484 31,1 19 129 57 8 12 1,8 5 15
K2114.96081286 Alad =M RAL 6032 CP 8 M12 12 48,4 31,1 19 129 57 8 12 2,3 5 15
K2114.960512186 Al =M RAL 6032 CP 5 M12x1,5 12 48,4 31,1 19 129 57 8 12 1,3 5 15
K2114.960612186 Alad =M RAL 6032 CP 6 M12x1,5 12 484 31,1 19 129 57 8 12 1,8 5 15
K2114.960812186 Al =M RAL 6032 CP 8 M12x1,5 12 48,4 31,1 19 129 57 8 12 2,3 5 15
K2114.96061686 A4 =M RAL 6032 CP 6 M16 16 62,3 41,5 26 16,6 7 10 16 1,8 15 35
K2114.96081686 Al =M RAL 6032 CP 8 M16 16 62,3 41,5 26 16,6 7 10 16 2,3 15 35
K2114.96101686 Al =M RAL 6032 CP 10 M16 16 62,3 41,526 166 7 10 16 2,8 15 35
K2114.960616186 A4 =M RAL 6032 CP 6 M16x1,5 16 62,3 41,526 166 7 10 16 1,8 15 35
K2114.960816186 Al =M RAL 6032 CP 8 M16x1,5 16 62,3 41,5 26 16,6 7 10 16 2,3 15 35
K2114.961016186 Al =M RAL 6032 CP 10 M16x1,5 16 62,3 41,5 26 1666 7 10 16 2,8 15 35
K2114.96082086 A4 =M RAL 6032 CP 8 M20 20 72,3 51,3 30 20,5 8,512 20 23 20 60
K2114.96102086 Al =M RAL 6032 CP 10 M20 20 72,3 51,3 30 20,5 8512 20 2,8 20 60
K2114.96122086 Al =4 RAL 6032 CP 12 M20 20 72,3 51,3 30 20,5 8,5 12 20 3 20 60
K2114.960820186 A4 =M RAL 6032 CP 8 M20x1,5 20 72,3 51,3 30 20,5 8,5 12 20 23 20 60
K2114.961020186 Al =M RAL 6032 CP 10 M20x1,5 20 72,3 51,3 30 20,5 8,512 20 2,8 20 60
K2114.961220186 Alad =M RAL 6032 CP 12 M20x1,5 20 72,3 51,3 30 20,5 8,5 12 20 3 20 60
K2114.96041087 A5 8 T RAL 5017 CP 4 M10 10 39,5 26,3 15 10,9 49 6 10 1 8 14
K2114.96051087 A% 5 T RAL 5017 CP 5 M10 10 39,5 26,3 15 10,9 49 6 10 1,3 8 14
K2114.96061087 4% S o RAL 5017 CP 6 M10 10 39,5 26,3 15 10,9 49 6 10 1,8 8 14
K2114.960410187 A5 8 T RAL 5017 CP 4 M10x1 10 39,5 26,3 15 109 49 6 10 1 8 14
K2114.960510187 A% 5 T3 RAL 5017 CP 5 M10x1 10 39,5 26,3 15 10,9 49 6 10 1,3 8 14
K2114.960610187 4% S ot RAL 5017 CP 6 M10x1 10 39,5 26,3 15 10,9 49 6 10 1,8 8 14
K2114.96051287 A58 T RAL 5017 CP 5 M12 12 484 31,1 19 129 57 8 12 1,3 5 15
K2114.96061287 A% 5 T3 RAL 5017 CP 6 M12 12 48,4 31,1 19 129 57 8 12 1,8 5 15
K2114.96081287 4% S ot RAL 5017 CP 8 M12 12 484 31,1 19 129 57 8 12 23 5 15
K2114.960512187 A5 8 T RAL 5017 CP 5 M12x1,5 12 484 31,1 19 129 57 8 12 1,3 5 15
K2114.960612187 AE S o RAL 5017 CP 6 M12x1,5 12 484 31,1 19 129 57 8 12 1,8 5 15

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/5



()
| — | — =]
LIAL &= 71S0] U= elsA E8iK
EZS 29

FEHS THE MA EFQ] D D1 D2 L L1 L3 B B1 H SW1 Fx30° A& EbA
ErSd B2

F12E. N F2<. N
K2114.960812187 A5 S o RAL 5017 CP 8 M12x1,5 12 484 31,1 19 129 57 8 12 2,3 5 15
K2114.96061687 A S o RAL 5017 CP 6 M16 16 62,3 41,5 26 166 7 10 16 1,8 15 35
K2114.96081687 A3z S o RAL 5017 CP 8 M16 16 62,3 41,526 166 7 10 16 2,3 15 35
K2114.96101687 A3 S o RAL 5017 CP 10 M16 16 62,3 41,526 166 7 10 16 2,8 15 35
K2114.960616187 AE S o RAL 5017 CP 6 M16x1,5 16 62,3 41,5 26 16,6 7 10 16 1,8 15 35
K2114.960816187 A3z S o RAL 5017 CP 8 M16x1,5 16 62,3 41526 166 7 10 16 2,3 15 35
K2114.961016187 A3 S o RAL 5017 CP 10 M16x1,5 16 62,3 41,526 166 7 10 16 2,8 15 35
K2114.96082087 AE S o RAL 5017 CP 8 M20 20 72,3 51,3 30 20,5 8,512 20 2,3 20 60
K2114.96102087 Az S o RAL 5017 CP 10 M20 20 72,3 51,3 30 20,5 8,5 12 20 2,8 20 60
K2114.96122087 A3 S o RAL 5017 CP 12 M20 20 72,3 51,3 30 20,5 8,5 12 20 3 20 60
K2114.960820187 AE S o RAL 5017 CP 8 M20x1,5 20 72,3 51,3 30 20,5 8,5 12 20 2,3 20 60
K2114.961020187 A3z S o RAL 5017 CP 10 M20x1,5 20 72,3 51,3 30 20,5 8,5 12 20 2,8 20 60
K2114.961220187 A3 S o RAL 5017 CP 12 M20x1,5 20 72,3 51,3 30 20,5 8,5 12 20 3 20 60
K2114.96041088 948t 3|A4 RAL 7035 CP 4 M10 10 39,5 26,3 15 10,9 49 6 10 1 8 14
K2114.96051088 018t 3| M RAL 7035 CP 5 M10 10 39,5 26,3 15 10,9 49 6 10 1,3 8 14
K2114.96061088 4%t &|A4 RAL 7035 CP 6 M10 10 39,5 26,3 15 109 49 6 10 1,8 8 14
K2114.960410188 1%t 2| RAL 7035 CP 4 M10x1 10 39,5 26,3 15 10,9 49 6 10 1 8 14
K2114.960510188 Q1%t 3| M RAL 7035 CP 5 M10x1 10 39,5 26,3 15 109 49 6 10 1,3 8 14
K2114.960610188 48t 3|4 RAL 7035 CP 6 M10x1 10 39,5 26,3 15 10,9 49 6 10 1,8 8 14
K2114.96051288 o15t 2| RAL 7035 CP 5 M12 12 48,4 31,1 19 129 57 8 12 1,3 5 15
K2114.96061288 018t 3| M RAL 7035 CP 6 M12 12 484 31,119 129 57 8 12 1,8 5 15
K2114.96081288 018t 3| RAL 7035 CP 8 M12 12 48,4 31,1 19 129 57 8 12 2,3 5 15
K2114.960512188 15t 2| RAL 7035 CP 5 M12x1,5 12 484 31,1 19 129 57 8 12 1,3 5 15
K2114.960612188 Q18 3| M RAL 7035 CP 6 M12x1,5 12 484 31,1 19 129 57 8 12 1,8 5 15
K2114.960812188 018t 3| RAL 7035 CP 8 M12x1,5 12 484 31,1 19 129 57 8 12 2,3 5 15
K2114.96061688 Q48t 2| RAL 7035 CP 6 M16 16 62,3 41,5 26 166 7 10 16 1,8 15 35
K2114.96081688 Q18 3| M RAL 7035 CP 8 M16 16 62,3 41,526 166 7 10 16 2,3 15 35
K2114.96101688 948t 3|4 RAL 7035 CP 10 M16 16 62,3 41,5 26 16,6 7 10 16 2,8 15 35
K2114.960616188 Q4%t 3| M RAL 7035 CP 6 M16x1,5 16 62,3 41,526 166 7 10 16 1,8 15 35
K2114.960816188 Q1% 3| M RAL 7035 CP 8 M16x1,5 16 62,3 41,526 166 7 10 16 2,3 15 35
K2114.961016188 948t 3|4 RAL 7035 CP 10 M16x1,5 16 62,3 41,5 26 16,6 7 10 16 2,8 15 35
K2114.96082088 Q4%t 3| M RAL 7035 CP 8 M20 20 72,3 51,3 30 20,5 8512 20 2,3 20 60
K2114.96102088 Q18 3| M RAL 7035 CP 10 M20 20 72,3 51,3 30 20,5 8,5 12 20 2,8 20 60
K2114.96122088 948t 3|4 RAL 7035 CP 12 M20 20 72,3 51,3 30 20,5 8,512 20 3 20 60
K2114.960820188 Q4% 3| M RAL 7035 CP 8 M20x1,5 20 72,3 51,3 30 20,5 8,5 12 20 2,3 20 60
K2114.961020188 Q1% 3| M RAL 7035 CP 10 M20x1,5 20 72,3 51,3 30 20,5 8,5 12 20 2,8 20 60
K2114.961220188 948t 3|A4 RAL 7035 CP 12 M20x1,5 20 72,3 51,3 30 20,5 8,5 12 20 3 20 60

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 5/5



